





\bsolute Value Equations (Case 1 and the Special Case

b)) - -
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ession 5 — 3x to have absolute value 12, it must repre- %
12. This equation fits the form of Case 1.
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id ' a formula, in funce: ey not equivalent o J(x) + f(h).
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that the derivative of f{y) = ¢ + 1 unction f that assigns to each x in

1s given by the function *(y) « 2, HON g assigns to each f(x) in its da

Now, f(0) = 2(0) = 0. meaning tha takes an element « and produces a
the slope of the tangent tine W) f{x) =
C43lma=0 s O, which implics
that the tangent line is honzontal |

you draw this tangent line, you will
soc that it s the line v = 1, which is

indecd a honzomtal line
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Since the divisor x — k has degr
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5x3 — 6x2 — 28x — 2
x4+ 2

The result of the division in
553 — 6x2 —28x— 2
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Exercise 1 , match the logarithm in Colu
er that \og, x is the exponent to which a mu




@ Mﬁnﬁmum ?ﬂrf( ﬂ
o ﬂlﬂimﬁm@ﬁk u

o2 | . i +C , abCER 7
| {l’}‘i ™
| ﬁmjfﬁ[?lﬂ \KE(‘%} \}L o bie /% I/Q,:ﬂ)
& - s R)RK @ttt s ﬁ‘j o
e ‘ﬁ -_2!;_ \ = f(g }\}7}' intevval .:-E G’"E’fr"?a&’;f“f] = L\Jr (== Q:L
C) V/Ff‘if"r’ f /> | - (i H_h“‘“um_. {q I['g,":’{]j
0 Eov o) oxisy e E B Y=2) V-tace 2 Paints
| 3 | X4C=0 4 V-yjac=o | Peint
. G- P80 U»f \ 2
| | Btaccs  Nox- MJ(F{QT?J[
O‘<{) GFE)T']E G’t}wﬂ m_-' Ilﬁ:' J y Ilru. >

h%-ﬁ) =C @ﬂﬁilmqm.ﬁhe N _y *

r'qlmrnqm \jaht U 3
@ Nal (oW \ \7\







